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QUESTION 1

Which formula is appropriate for calculating target port Queue Depth?

A. The number of LIFs using a physical port * 256

B. The sum of the Queue Depth setting for all hosts using a physical port

C. The number of LIFs using the physical port * Maximum Host HBA Queue Depth setting
D. The number of physical ports * 2048

Correct Answer: C

QUESTION 2
While expanding a 200 GB LUN in an ONTAP 9.4 system, the following error is observed:

clusterl::*> lun resize -path /vol/lun vol/lun —-size +3T

Error: command failed: New size exceeds this LUN's initial gecmetry

What is the cause of this error?

A. The volume auto-grow is disabled.

B. The LUN reached maximum capacity.

C. The LUN can be expanded up to 10 times its original size.
D. Space reservation is enabled.

Correct Answer: A

QUESTION 3

Which two components must be verified for a supported NetApp SAN confutation? (Choose two.)
A. host memory

B. host GPU

C. host multipath

D. host bus adapter

Correct Answer: CD
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QUESTION 4

You create a new iISCSI SVM and secure iSCSI sessions by using both Challenge- Handshake Authentication Protocol
(CHAP) and iSCSI Access Control Lists (ACL). In this scenario, in which two ways are you securing your iSCSI
implementation? (Choose two.)

A. CHAP creates a hash value for the username and shared secret.

B. iISCSI ACLs are applied to the initiator configuration to provide an IP address of the targets.

C. CHAP encrypts all iSCSI session /0.

D. iSCSI ACLs are applied to the target configuration to provide an IP address of the initiators.

Correct Answer: AD

QUESTION 5

You create a 20 GB LUN in a newly created 100 GB FlexVol volume. You then write 5 GB of data to the LUN. You have
space reservation disabled on the LUN. In this scenario, how much space do you have left on the volume?

A.95GB
B. 80 GB
C.75GB
D. 85GB
Correct Answer: A

Reference: https://library.netapp.com/ecmdocs/ECMP1368017/html/GUID-OEOB085C- 5A42-43F3-9CCD-
4FD699BA6C89.html
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